	
	Fixed Backbone
	Backrub,
kT = 0.3
	Backrub, 
kT = 0.6
	Backrub, 
kT = 0.9
	Backrub, 
kT = 1.2
	Backrub, 
kT = 1.8
	Backrub, 
kT = 2.4

	Fixed Backbone
	1.00000
	0.01313
	0.00052
	0.00013
	0.00044
	0.01936
	0.42259

	Backrub, kT = 0.3
	0.01313
	1.00000
	0.21757
	0.10357
	0.23543
	0.85292
	0.07856

	Backrub, kT = 0.6
	0.00052
	0.21757
	1.00000
	0.70490
	0.92439
	0.15599
	0.00447

	Backrub, kT = 0.9
	0.00013
	0.10357
	0.70490
	1.00000
	0.62537
	0.06932
	0.00129

	Backrub, kT = 1.2
	0.00044
	0.23543
	0.92439
	0.62537
	1.00000
	0.16738
	0.00414

	Backrub, kT = 1.8
	0.01936
	0.85292
	0.15599
	0.06932
	0.16738
	1.00000
	0.10947

	Backrub, kT = 2.4
	0.42259
	0.07856
	0.00447
	0.00129
	0.00414
	0.10947
	1.00000
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